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® Assignment

1. Describe how the graphs of the following functions relate to the graph of y = f(x).

a) y=fix+9) b) y=fix)+7 c) y=fix-4)+4
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2. Write the equation of the image of ¥ = f{x) after each transformation.
a) a vertical translation of 10 units down
IDY¥o  yrios £(2) ov y- F(A-Lo
b) ahorizontal translation of 8 units nght and a vertical translation of 9 units up
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3. The function y = f{x) is transformed to Y =fix - h) + k. Find the values of & and k for the
following translations.

a) 7 units right b) 4 units up and 2 units left €) a units right and b units down.
h=1, =0 h= -3, k=4 h=a, k= -

4. The point (-3, S)hesonthegraphofy-ﬂx) Statethecootdmatesofthelmageofthls
point under the following transformations
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a) y-ﬂx)+3 b) y+5=Ax+2) €) (x,y) = (x- 7y 1)
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s. Whathappenstotlwgmpbofﬂxefunctxony-ﬂx)nfyoumakethesechangestoxts
equation?

a) replace x with x - 8 . b) replace y with y + 2
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c) neplaceanhx+4 andy withy - 7
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O 6. Given the graph of the function y = f{x), sketch the graph of the indicated function.

a) y-f(x 4) b) y-3=Ax)
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. Thcﬁmcuony-j(x)xstmnsformedtoy-ﬂx+2)+4 If the point (3, -l)hesonthegra]
of y = f(x), whnchofd:efollomngpomtsmustheonthegnp\ofy-ﬂx+2)+4?
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8. Theﬁmcnon x) is transformed to y — 3 = f{x - 1). If the point (-2, 4) lies on the gray
of y- -j(x l , which of the following points must lie on the graph of y =
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9. The graphofy = g(x)wasu'ansformedhothegraphofy g(x = 7) + 2. Which of the
following statements describes the transformation?

A. The graph of y = g(x) has been translated 2 units to the right and 7 units upward.
B. The graph of y = g(x) has been translated 7 units to the left and 2 units downward.
The point (x, y) on the graph y = g(x) has been translated to point (x + 7, y + 2).

. The point (x, y) on the graph y = g(x) has been translated to point (x - 7, y - 2).
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Use the following information to answer the next question.

The graph of y = £() is C N
shown on the grid to the right. £l
: -
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Transformations of the graph of y = f(x) are shown below
i i TR N s SR -
] HEA | Lrigh
T A WP
i | X=X~
: - y Y-
i mmmn ’,f‘*t“t’f“':' -
R \viﬂjh*’
e S & Olovin
AT AT | x> x-
janonss asaandiis nane: Tnans s j—»gh}—

10. Writethegraphnumberoonespondingto y-2=flx~1) in the first box.- &

Writethcgmphnumbacottespondingto y+2=£fx-1) inthesecondbox.'*
Write the graph number corresponding to y — 2 = f{x + 1) in the third box.~ |
Write the graph number comresponding to y + 2 =f(x + 1) in the fourth box. =3

(Recoxdyomanswainthenumuicalmponseboxﬁomleﬂtoﬁght.) l3
Answer ‘
1. a) horizontal translation 9 units left b) vertical translation 7 units op
¢) uanslaﬁon4unitsﬁghtand4unitsup d) vertical translation 6 units up
e) tmnslationSunitsﬁghtand3unitsup f) translation 3 units left and 12 units down
2. 2) y=flx)-10 b) Y=fix-8)+9 ¢) yafix+s)+:
3.2) h=7,k=0 b) ha-2k=4 €) hma,ke-p
4. a) (-3,8) b) (5,00 ¢) (-10,49)
5. a) bhorizontal translation 8 units right b) vertical translation 2 units down
c) translation4unitsleftand7unitsup
6. a) the graph is translated 4 units right b) the graph is translated 3 units up
c) the graph is translated 2 units left and 3 units down
d) the graph is translated S units right and 2 units down
7. B 8. D ‘9. C 10.Lz,4,|[3]



